
1

2 Place the spacer kit into the bar access slot as shown. 
Finger tighten the bolts.

          3

4

Using the parts from the conduit clamps kit, assemble it 
on to the spacer bracket as shown. Finger tighten.

Position the clamps in the preferred position by                  
adjusting the M8 x 30mm bolts and washers in the slots. 
Tighten all bolts.

1

2
3

4

5

2x M8 x 30mm Hex Bolt

1x Clamp Assembly

Assemble the spacer kit as shown. Do not tighten 
hardware at this stage.

Item Component Qty Part No.
1 M8 x 45mm Hex Bolt 6 B113
2 M8 Spring Washer 6 W019
3 M8 Flat Washer 12 W020
4 Conduit Clamp Spacer Bracket 3 CA1504
5 Ladder Loader Levelling Packer 20mm 3 M605
6 M8 Nyloc Nut 6 N028
7 M8 x 30mm Hex Bolt 6 B175
8 Fitting Instructions    1 R922

Rhino-Rack
3 Pike Street, Rydalmere, 
NSW 2116, Australia. 
(Ph) (02) 9638 4744  
(Fax) (02) 9638 4822
These instructions remain the property of Rhino-Rack Australia Pty Ltd 
and may not be used or changed for any other purpose than intended.

Prepared By: Peter Luu
Authorised By: Chris Murty 
Issue No:  01
Issue Date: 28/09/2015

Parts List

6

Use channel nuts 
from the conduit 
clamp kit.

When using bar end cap:
Mount clamp outward most position.

When not using bar end cap:
Use inner most slot position.

Clamp Spacer Bracket Top View:

Also works with BC3-150

Page 1 of 1

Conduit Lower Side Brackets - BC3-LSB

rodr
Small Controlled


